
SAP ABAP table VAWZ {Delivery Plan: Itinerary Determination, Zone-Specific}

VAWZ

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LAND [CHAR (3)]

LZONE [CHAR (10)]

VSBED [CHAR (2)]

TRAGR [CHAR (4)]

JAHR4 [NUMC (4)]

TPERI [NUMC (3)]

AULWE [CHAR (10)]

T000

MANDT [CLNT (3)]
 VAWZ-MANDT = T000-MANDT 0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)] VAWZ-LAND = T005-LAND1 0..N

1

TTGR

MANDT [CLNT (3)]

TRAGR [CHAR (4)] VAWZ-TRAGR = TTGR-TRAGR 0..N

1
TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 VAWZ-VSBED = TVSB-VSBED 
0..N1

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 VAWZ-LZONE = TZONE-ZONE1 

0..N

1

VARZ

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

AULWE [CHAR (10)]

AUSL_REIH [NUMC (5)]

 VAWZ-AULWE = VARZ-AULWE 

0..N

1

 VAWZ-VSTEL = VARZ-VSTEL 

0..N

1


